
790 Duke orange 2018 <2018><EU><F9603R6>
TANK, SEAT

49749

Pos Part Number Description Additional Text Quantity

1 64107013000BHA Fuel tank stell silver with de 1.00

2 64107080100 Fuel level sensor 1.00

3 0912050203 AH SCREW DIN0912-M 5X20 2.00

4 58007117000 YDNAC-CLAMP 10107 10MM 1.00

5 78015019000 HOSE EPA D=6/10 L=2000MM 1.00

6 69011092000 Cable tie w. socket D=6.5 1.00

7 54603048200 RANGE CHANGE METAL NUT M5 2.00

8 54603048300 RANGE CHANGE METAL NUT M6 INOX 2.00

9 62142041000 DAMP. COMPONENT ABS MODUL 2.00

10 61342041000 Collar bushing 6.5X9X18X8.5 2.00

11 0025060206 HH collar screw M6x20 TX30 2.00

12 60307080090 Gasket fuel lever sensor 1.00



13 014579050301 Screw ISO 14579-M5x30-8.8-P3R 7.00

14 64107040000 rider seat cpl. 1.00

15 60006001021 Distance rupper airbox 03 3.00

16 77307040041 Isolation pad 6.00

17 0035080356 AH-COLLAR SCREW M8X35 ISA45 2.00

18 0021080003 WASHER DIN9021-A 8,4 2.00

19 60307048000 RUBBER SEAT-CONTACT SURFACE 2.00

20 61407049000 BUSHING 8.4X12X21.5 2.00

21 83008100015 Special screw M6x15x5.5 2.00

22 64107047033 Passenger seat cmpl. 1.00

23 64112008100 Pillion Handle Bar 1.00

24 0035080506S AH collar screw M8x50 ISA45 4.00

25 64107012000 Tank Protection Set Metamoll 1.00


